

VIDYA BHAWAN BALIKA VIDYA PITH

शक्तिउत्थानआश्रमलखीसरायबिहार

Class :-12(Maths)

Date:- 01.06.2021

23. Show that $f(x) = |x - 5|$ is continuous but not differentiable at $x = 5$.

Solution:

$$\text{Given, } f(x) = |x - 5|$$

$$\Rightarrow f(x) = \begin{cases} -(x - 5) & \text{if } x - 5 < 0 \text{ or } x < 5 \\ x - 5 & \text{if } x - 5 > 0 \text{ or } x > 5 \end{cases}$$

For continuity at $x = 5$

$$\begin{aligned} \text{L.H.L. } \lim_{h \rightarrow 5^-} f(x) &= -(x - 5) \\ &= \lim_{h \rightarrow 0} -(5 - h - 5) = \lim_{h \rightarrow 0} h = 0 \end{aligned}$$

$$\begin{aligned} \text{R.H.L. } \lim_{x \rightarrow 5^+} f(x) &= x - 5 \\ &= \lim_{h \rightarrow 0} (5 + h - 5) = \lim_{h \rightarrow 0} h = 0 \end{aligned}$$

$$\text{L.H.L.} = \text{R.H.L.}$$

So, $f(x)$ is continuous at $x = 5$.

Now, for differentiability

$$\begin{aligned} \text{Lf}'(5) &= \lim_{h \rightarrow 0} \frac{f(5 - h) - f(5)}{-h} \\ &= \lim_{h \rightarrow 0} \frac{-(5 - h - 5) - (5 - 5)}{-h} = \lim_{h \rightarrow 0} \frac{h}{-h} = -1 \end{aligned}$$

$$\begin{aligned} \text{Rf}'(5) &= \lim_{h \rightarrow 0} \frac{f(5 + h) - f(5)}{h} \\ &= \lim_{h \rightarrow 0} \frac{(5 + h - 5) - (5 - 5)}{h} = \lim_{h \rightarrow 0} \frac{h - 0}{h} = 1 \end{aligned}$$

Thus, $\text{Lf}'(5) \neq \text{Rf}'(5)$

Therefore, $f(x)$ is not differentiable at $x = 5$.

24. A function $f : \mathbb{R} \rightarrow \mathbb{R}$ satisfies the equation $f(x + y) = f(x)f(y)$ for all $x, y \in \mathbb{R}$, $f(x) \neq 0$. Suppose that the function is differentiable at $x = 0$ and $f'(0) = 2$. Prove that $f'(x) = 2f(x)$.

Solution:

Given,

$f : \mathbb{R} \rightarrow \mathbb{R}$ satisfies the equation $f(x + y) = f(x)f(y)$ for all $x, y \in \mathbb{R}$, $f(x) \neq 0$

Let us take any point $x = 0$ at which the function $f(x)$ is differentiable.

$$\begin{aligned} \text{So, } f'(0) &= \lim_{h \rightarrow 0} \frac{f(0 + h) - f(0)}{h} \\ 2 &= \lim_{h \rightarrow 0} \frac{f(0) \cdot f(h) - f(0)}{h} \quad [\because f(0) = f(h)] \quad \dots(i) \end{aligned}$$

$$\Rightarrow 2 = \lim_{h \rightarrow 0} \frac{f(0)[f(h) - 1]}{h}$$

$$\begin{aligned} \text{Now, } f'(x) &= \lim_{h \rightarrow 0} \frac{f(x + h) - f(x)}{h} \\ &= \lim_{h \rightarrow 0} \frac{f(x) \cdot f(h) - f(x)}{h} \quad [\because f(x + y) = f(x) \cdot f(y)] \\ &= \lim_{h \rightarrow 0} \frac{f(x)[f(h) - 1]}{h} = 2f(x) \quad \text{from eqn. (i)} \end{aligned}$$

$$\begin{aligned} \text{So, } f'(0) &= \lim_{h \rightarrow 0} \frac{f(0+h) - f(0)}{h} \\ &= \lim_{h \rightarrow 0} \frac{f(0) \cdot f(h) - f(0)}{h} \quad [\because f(0) = f(h)] \quad \dots(i) \\ \Rightarrow 2 &= \lim_{h \rightarrow 0} \frac{f(0)[f(h) - 1]}{h} \end{aligned}$$

$$\begin{aligned} \text{Now, } f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} \\ &= \lim_{h \rightarrow 0} \frac{f(x) \cdot f(h) - f(x)}{h} \quad [\because f(x+y) = f(x) \cdot f(y)] \\ &= \lim_{h \rightarrow 0} \frac{f(x)[f(h) - 1]}{h} = 2f(x) \quad \text{from eqn. (i)} \end{aligned}$$

Therefore, $f'(x) = 2f(x)$.

Differentiate each of the following w.r.t. x (Exercises 25 to 43) :

25. $2^{\cos^2 x}$

Solution:

Let $y = 2^{\cos^2 x}$

Taking log on both sides, we get

$$\log y = \log 2^{\cos^2 x} \Rightarrow \log y = \cos^2 x \cdot \log 2$$

Now,

Differentiating both sides w.r.t. x

$$\frac{1}{y} \cdot \frac{dy}{dx} = \log 2 \cdot \frac{d}{dx} \cos^2 x$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = \log 2 \left[2 \cos x \cdot \frac{d}{dx} \cos x \right]$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = \log 2 [2 \cos x (-\sin x)]$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = \log 2 (-\sin 2x)$$

$$\frac{dy}{dx} = -y \cdot \log 2 \sin 2x$$

Thus, $\frac{dy}{dx} = -2^{\cos^2 x} (\log 2 \sin 2x)$

26.

$$\frac{8^x}{x^8}$$

Solution:

$$\text{Let } y = \frac{8^x}{x^8}$$

Taking log on both sides, we get $\log y = \log \frac{8^x}{x^8}$

$$\Rightarrow \log y = \log 8^x - \log x^8 \Rightarrow \log y = x \log 8 - 8 \log x$$

Differentiating both sides w.r.t. x

$$\frac{1}{y} \cdot \frac{dy}{dx} = \log 8 - \frac{8}{x} \Rightarrow \frac{dy}{dx} = y \left[\log 8 - \frac{8}{x} \right]$$

$$\text{Thus, } \frac{dy}{dx} = \frac{8^x}{x^8} \left[\log 8 - \frac{8}{x} \right]$$